Annex 3 – Horizontal Accuracy Computation

T-0027
The Horizontal Accuracy Statement reported in Section F (Analysis of Results) is based on the predicted circular horizontal accuracy of adjusted points in the aerotriangulation solution.  This circular accuracy equals the radius of the 95% confidence circle as calculated from the horizontal (x and y) root-mean-square (RMS) values of the standard deviations for each triangulated ground point, rounded to the nearest tenth of a meter.

The root mean square of all standard deviations of triangulated ground points:


RMS(x)=0.088meters
RMS(y)=0.085meters

The value for the confidence circle radius is given by the following expression:

R=K*Sx

Where Sx is defined as the larger of the two (X and Y) RMS values, and K is interpolated using the C ratio from the Table of Cumulative Probability.

The C ratio equals the smaller of the RMS values divided by the larger:


C=0.085/0.088=0.966
The following line (95% probability level) from the Table of Cumulative Probability was used to determine the value of K by a simple linear interpolation between the two nearest values of C:
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K
=2.33180+[(0.966-0.9/(1.0-0.9)*(2.44775-2.33180)]


=2.33180+(0.660*0.11595)


=2.33180+0.076527= 2.408327
K
=2.408
R=K*Sx=2.408*0.088=0.212
The Radius of the 95% Confidence Circle=0.21meters

